H £ 0l & AF & S

20238 =0ila LEta| | THAIE

M X

Al A

I XS ASZH(Letssdy/Lerety)
ol daNEEs (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CHXIH 504,222 401,682 102,540
CHXIS AL BH(LBS ST/ LEEE) 413,942 311,462 102,480
AN ES 252,740 214,040 38,700
ot #=sXI& 96,340 96,340 0
301 EetE NS 96,340 96,340 0
o7 8% -0 - H¥Es243 85,540 85,540 0
oolg+¢ 84,240
-JlE=g 300,000 x18F 122 64,800
-0 300,000 x18H*23] 10,800
-3 ¥NE 20,0002 x 182 +23|x 12 8,640
oty ¢ 50,0003 26 1,300
4 JIEt2 8= 10,800 10,800 0
ool g &SI 50,0002 x18F12& 10,800
Sl PAL 4,000 5,300 21,300
301 EtE NS 4,000 5,300 21,300
11 dALEEIXIZE S 4,000 5,300 21,300
Ous - 29|, AL AL AH|I2d
4,000,000& 4,000
A2 NG9S FUEOMAH(THXIH) 150,000 110,000 40,000
401 Al HIZ S 0HYI 150,000 110,000 40,000
01 AlZ2H| 150,000 110,000 40,000
O2E0I= =2 HHISAt
30,000,000& 30,000
O0l2cIE =2 &EH SAt
30,000,000& 30,000
OXS0ts s2 MEY SAt
30,000,000 30,000
OHS0tE o2 =& SA
20,000,000 20,000
Ostdits NMZs2 MEY SAt
20,000,000 20,000
OFEE =2 =EE SA
20,000,000 20,000
SdYR+d 2,400 2,400 0
204 MR AH| 2,400 2,400
03 SEY =3I 2,400 2,400
ONREEsRE 100,000 x2S * 12 2,400
SN E SSAE 2l 161,202 97,422 63,780
EAr2e] 44,240 42,924 1,316
101 @124H| 27,522 26,206 1,316
M ORINZZE2NSE S 27,522 26,206 1,316
OF A=Y 27,522
-Jl=s 76,9602 x 12 +2452 18,85
-ReEsdIdfrg 76,9603 18 #5222 4,002

_1_




A XIS
I XS ASZH(2etssHy/Lerety)
SRl AL & SSAIE 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A28z 22,857,120 %10. 3% 2,355
-EA= 76,9602 x1&*30 2,309
201 fet=23y| 14,718 14,718
01 AtR2tc|HI 3,006 3,006
Oget=EH| 3,006
-EAMNReIEHIEH 132,000« 12& 1,564
-OIEA HioE 29 38,5002« 12 462
-EA 2HEA HIO 8XtE
20,0003 401 x 122 960
02 S3=gHl 1,712 1,712 0
OsE2= & HA 2,840
-EAb 3t =8 18,000& »30& 540
-2EY 28 800,000 ~2CH 1,600
-2ENE BFNERES
50,0002 *23] 100
-2E(HIXE BN MRS
50,000 * 122 600
OAlZ &I Xl 3,000
-AIE &8 sX2el 3,000,000& 3,000
OdzH| 1,1003%36 ¢ ~12& 476
OXtgs el 5,3%
-S&U 1,387&*180 £ x12& 2,9%
=l 300,000 x2CH*4E2 D1 2,400
401 AIEHIX SO 2,000 2,000
01 Al&H| 2,000 2,000
OFAL g & AR 2|
2,000,000 2,000
SSAlE 2 116,962 54,498 62,464
101 e124d| 23,662 7,398 16,264
M ORNZZ2NSE S 23,662 7,398 16,264
OsltetdiE 2tel 13,735
-Jl=ag 38,4003 x 12 #2452 9,408
-FERdIfsE 38,4003 x 1 #5652 1,997
A2 = 11,428,560 10. 3% 1,178
-E&= 38,4003 18 »30! 1,152
OWMZE & A3 2l
76,9613 x 1 *30 2,309
OZESEMIIL =XHE 22
76,9612 x1&8 30 2,309
OR&SIOtE =Y 2tel
76,9613 x18+30! 2,309
O=MMEIEAIZSE EZEH|
3,000,000& 3,000
201 er2 3| 23,300 6.400 16,900




2A:

CHXIEH

I XS ASZH(2etssHy/Lerety)
Rl AP SEAIE 2Ll (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,700 2,800 21,100
Odit==H| 1,700
—GMJ R SHANE FatE FAH
100,000 200 A 200
-JI27]1 & S3AE NS 7Y
1,000,000 1,000
-2 =J|1200 wH 500,000 500
2 s5=34l 21,600 3,600 18,000
O332= € HAl 21,600
-GMA0E o Ed & SEAE HIRs S
3,600,000& 3,600
—sHetdE &JIes S
18,000,000 18,000
401 Al&EI L2 HE] 70,000 40,000 30,000
01 A&l 70,000 40,000 30,000
OZTAME |1 L MBHATUZY)
50,000,000 50,000
OMMIE AIE= EH 20,000,000& 20,000
Y2 AHI(CHXIH) (DIEHIIEH 90,280 90,220 60
Jl=ZHI(01=3H]) 90,280 90,220 60
J123HI(THXIe) 90,280 90,220 60
201 er2 3| 50,680 49,620 1,060
01 AtR2telHl 31,080 30,020 1,060
Odgt+==H| 15,000,000& 15,000
O=zg=g 6,960
-2 A 60,0002 x1H*116& 6,960
OLl=H| 100,000& 3 300
O=EH| 8,820,000& 8,820
02 S3=gHl 19,600 19,600 0
O332= € MAl 19,600,000 19,600
202 04| 27,000 27,000
01 =LHOLI 27,000 27,000
O=LH04H| 150,000 x15F «12& 27,000
203 HR=H] 10,200 10,200
01 J|2=2gedR=a] 6,600 6,600
OJ|2=2gee=a] 6,600,000& 6,600
02 3t RF&| 600 600 0
ORIt =AY 40,0002 15& 600
04 PAE2EERFAH 3,000 3,000 0
ORMEZE =4 250,000+ 122 3,000
204 MPo-HAH| 2,400 2,400
01 MG HI A 2,400 2,400
osd 150,000& «12& 1,800

_3_




M X
M Y RAZHI(XIE)(OIEHIIE)
ghelr J1=2ZH(01234)

S BB G2 (3H) - HISAY - JE]
RE- 2A(B1H) - HIRAY - B Ofl Ao OEM%

O

!

HE 50,0002+ 12 600




